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Notice:
1. Do not open this cover until you have been instructed to by a proctor.
2. The question sheet consists of 4 pages including this cover.
3. You must bring the question sheet back when you are finished.



Read the following brief paper published in the Laccet Oncology (2018), answer the questions

at the end of the paper.
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Increasing incidence of cancer in children and competing risks by Philippe Autier (Lancet

Oncol 19 (2018) pp. 1136-1137)




Questions.

(1) Which is appropriate a or b?

(2) Which is appropriate a or b?

(3) Which is appropriate a or b?

(4) Which is appropriate a or b?

(5) Which is appropriate a or b?

(6) Considering the reason for having increased incidence of cancer in children over the 1991 -
2010 period, take the most essential and fundamental sentence from the manuscript and

indicate in the following space.




